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Open Issues

— What encoding should be used for channel
bindings: two options

* Diagrams required
* Confirm 802.11 attributes



Two encoding options

Encoding option 1
0 1 2 3
01234567890123456789012345678901C0de:10ctet
+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+Length: 1 octet
| Code | Length | NSID | NS-SPECIFIC ...
+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+NSID: 1 octet
| |NS-SPEC|F|C: =<255 octets
Fot bttt —F—F—F—F —F—F —F—F—+—+—+—+—+—+—+—+—+—+—+—+—+—-H{Length: 1 octet
| NSID | Length | NS-SPECIFIC... NSID: 1 octet
T oo b oo oo oo oo -4 4 -+~ —4NG_SPECIFIC: =<255 octets}
| |
e e el e st e s
Encoding option 2

0 1 2 3

0123456789 01234567890123456789C01
bbb bbb — b b bt~ bt —+ b4~ 44—+ 44—+ CODEI 1 OCtet

| Code | Length | NSID  Length: 2 octets
ottt bbb bbbt — b —f— b — bt == —t—t =t == =+ =+ —+—+—+—+—+—+—+ NSID: 1 octet

| NS-Specific.. | NS-SPECIFIC: all data
Fobmt oo oo o o oo b oot b —f—d—f 4 —d— 4 -t -4 —+—+ {| angth: 2 octets

| Length | NSID NS-Specific... NSID: 1 octet
S e A A A A S A S e A A T Y Yo [T [ | data}
| |
e e st e e e sl L e e s

(Any NSID at most once)

+

+ —



Two RADIUS AVPs encoded both ways

Encoding option 1
0 1 2 3
0123456789 01234567890123456789°01
e e e L s e e e S e e e s e A A R e e &
| Code | Length | NSID | Type |
s s e e s i e e e e e
| Value...
s e e  a d &
| Length | NSID | Type | Value...
+-F-+—+—F-F-+—+—F-F-+-+—F+-F-F+—t+—F+ -+t —+—+—+
| |
it e e e e e e A e e e e e &
Encoding option 2

0 1 2 3
0123456789 01234567890123456789C01
+-F-+—+—F-F-+—+—F-F-+—+—F+-F-+—t+—F -+t -+ —F+—+—+—+
| Code | Length | NSID |
it e e e e e e s e e e e S &
| Type | Length | Value... |
e R s e e e e itk &
| Type | Length | Value... |
+-F—+—+—F-F-+—+—F-F-+—+—F+-F-+—t+—F -+t —+—+—+



